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POWER SYSTEM-III

Fruifa e fim e (3tftrmaw 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70
P () FUm I a8, 99 7 @ gl ar & I G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) ¥I% F7 3 G4 YT F) FHAR UF GTE FA Ford |
Solve all parts of a question consecutively together.
(iii) NeI% F9 F 79 J8 & I g |
Start each question on fresh page.
(iv) @1 yTarait & R 817 ) 1Rl 7 A sgae @ w8 |

Only English version is valid in case of difference in both the languages.

. (1) "mamfFEG e sdaHaH e ?

(a) R T YW (b) ¥R Ud WY
(c) Sl ud @9 (d) ¥R UE I &Hal
Mass curve is a curve between which two parameters ?
(a) Load and current (b) Load and time
(c) Energy and time (d) Load and generating capacity
(2) | R
Fftramaw wm 3rEa ¥R
@) “Fmmwn ®) i W
Frfereham R Frfereram YR
© S O =y
Demand factor is
Maximum demand b Average load
(@) Connected load ®) "Maximum load
Maximum load Maximum load

(c) (d)

Average load Installed capacity

(10f 8) P.T.O.
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(2 of 8)
Fftrram wR
) Tz g+ 0 £
(a) —EA EWAT IO (b) 3TN U
(c) farfereran orie (d) RO
Maximum load . -
Rated Plant Capacity 'S “"OWn s
(a) Plant capacity factor (b) Utilization factor
(c) Diversity factor (d) Load factor
4) Tafen we fafy gro frehl o Hr i 2 2
(a) TRremME (b) 37E fer wmmE
(c) e @mTE (d) 693 F1 4T 7

&)

Sinking fund method is used to calculate

(a) Fixed cost (b)
(¢) Running cost (d)
faseft A wAR AR ETR ?

(a) TATCCAIHFABIACR | (b)

(c) WAV UIFE TG AR | (d) FS YR HI & fFar FTA R |

During load shedding

(a) System voltage is reduced.

(b) System frequency is reduced.
(c) System power factor is changed.
(d) Some loads are switched off.

Semi fixed cost
Depreciation cost of plant

a3 agfer m i Il R |

(6) TEHI W 15 HT WR 68 WR & 31=wfa smar @ 7

aftenfies W
T R

Industrial load

(a) RN (b)
(c) ARG WK (d)
Street light loads come under which type of load ?
(a) Domestic load (b)
(¢c) Commercial load (d)

Municipal load

(7) Torega wfe 3eTe v ) w9E FE T IS B

(a) FHTFE H AHR (b)
(c) T (d)
Factor affecting the cost of generation
(a) Size of units (b)

(¢) Organization (d)

TR 3 A gl
IR wft

Distance from load centre
All of the above
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(a) TAfSE 9R
(c) Fftreran Tm

(b)
(d)

On what basis flat rate tariff is charged ?

(a) Connected load (b)
(¢) Maximum demand (d)
(9) &w vifF o % foru Yt e Bl 2
(a) IafmIEFIHT  (b)
(c) affesImiEm s g (d)

(30f8)
(8) e Yz 2few fopa amum o feran s & 7
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IYNNT Y TS 3RS
3tEd WR

Units consumed
Average load

T I9TE & g
I @i & forg

The provision of penalty for low power factor

(a) for industrial consumer (b)

(c) for commercial consumer  (d)
(10) Sifa T[0T =1 7T TS B B

(a) Y Nfore iy & ferg (b)

(c) < ufe aftaey & ferg (d)

Value of power will be unity

(a) For pure inductive circuit  (b)

(c) For pure capacitive circuit  (d)
(11) wifea 1orieh <1 rforma 2
afsra ofd
@ Sfeforametiet ai ®)
afera wfea
©) e wf @

Meaning of power factor is
Active power

(@) Reactive Power (b)
Active power

©) Apparent Power (.
(12) Sor wiredl &1 wifer Tonieh & 2

(a) W=t (b) I (o)

Power Factor of induction motor is

(a) Lagging (b) Leading (c)
(13) = wife o1 & HROT

(a) T T G R | (b)

(c) eEAFRRuEgmel ()

Due to low power factor

(a) Increases line current (b)

(c) Increase line resistance

(d)

for domestic consumer
all of the above

1 wfedndt aftey & ferg
Iqtiaa aft

For pure resistive circuit
All of the above

yfafsrarsfier wifad
gfsra wfe

FIGCIH

W

Reactive Power
Active power

Impedence
Resistance

T

Unity

(d) I Bt

(d) All of the above

ATé e agdi R |
Iqie 8§ & HiE TE

Increase line voltage
None of the above

P.T.O.
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(14) wifer Tqorieh Fum & fore m § oma &
(a) %9 TEATR (b) Aroft fruger
(c) 3T FAHER (d) faweh Had
Power factor improvement is done by
(a) Phase advancer (b) Series reactor
(c) Auto transformer (d) Load shedding
(15) 999 LRI A1e FH=IG: G<ATE i &
(a) forew s =it (b) 3THT Wi &t

(c) Tomat qem mum vt #5t (d) IulEa H & B T
Pump storage plant supply normally

(a) to peak load (b) to base load

(c) to peak load and base load (d) None of the above

(16) ®A Jrfershan =i % for afg e o %w e B, @ it 1 g

(a) @@ | (b) &9 &N |
(c) TS wuTa TE BN | (d) I9Ta § | FIE T8
For the same maximum demand, if load factor is decreased than the cost of
energy
(a) Increases (b) Decreases
(¢) remains unaffected (d) None of the above
(17) ¥ ¥R % FHT Wl JOTTefl 1 STTav2shar & 2
(a) ¥ urfe & (b) qoIHI GufE] Hi
(c) v fdwedi i | (d) 74 a7
At the time of low load what is the necessity for power system ?
(a)  Shunt capacitor (b)  Synchronous condensers
(¢). Shunt reactor (d) None of the above
(18) Tereron wvesi & Sioft errfe wam g 2

(a) fafrarsier wfe afagfd & oo
(b) deeamTd 1 F4 & forw

(c) T3 I &1 & & foru
(d) ¥ &+ T

In distribution line series capacitor are used
(a) to compensate reactive power

(b) to reduce voltage drop

(¢) toreduce line losses

(d) None of the above
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(19) TFaHRR # i wem i it 8
(a) T dieear Fveem & Henr R
(b) I Fleedl HUSAA & Herl B T
(c) I deea FuEHA I R
(d) I diced FUEAA & HEA H
In transformer tapping are provided on
(a) Phase end of LV side (b) Phase end of HV side
(¢) Neutral end of HV side (d) Middle of HV side
(20) Iyfs wfE soreh # sreean = fm faft & fem s 2 2
(a) WARMTEEERF A (b) I FFHBER & g
(c) fadsgawmriid g (d) I @l
What is the method of voltage control in modern power system ?

(a) By tap changing transformer (b) By Auto transformer

(¢) By booster transformer (d) all of the above
(21) TUEH TS % T4 & FHF Nl 8

(a) R H HO BN Freft gt (b)  afsa sfaema

(c) e fa= (d) Iura g+

Bundle conductors reduce

(a) Losses due to corona (b) Surge impedance

(¢) Radio disturbance (d) All of the above
(22) EHV w1 # ¥ga & &

(a) IR TTTH (b) wUESH ATAH

(c) T IAH (d) IurEm A+t

EHV line are used :

(a) Stranded conductor (b) Bundle conductor

(¢) Composite conductor (d) All of the above

(23) femumn e qea: fre dieean = foan S @
(a) 66kV (b) 132kV  (¢) 220kV  (d) 500kV
Mainly DC transmission is done on voltage
(a) 66kV (b) 132kV  (¢) 220kV  (d) 500kV

P.T.o'
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(24) FE LIA § HH A FTeT ITHT 2
(a) T FEH (b) ETI fheet
(c) Fewrr (d) IHrE T+t
The instrument used in the converter station
(a) Converter transformer (b) Harmonic filter
(¢) Rectifier (d) All of the above
(25) &% T q% HVDC 1 39917 e sirm 2

(a) grEHITH & qgM & ferg

(b) =TE BTl #9 F & forg

(c) WIM T HATH ITeTed HEM o forg
(d) dieeammE geH & fau

Back to back HVDC used to

(a) toincrease the transmission capacity
(b) to decrease line losses

(c) to available station inter connection
(d) toreduce voltage drop

(26) TFEHYH 189 | HIAT ffk @ 2

(a) TP & HH T (b) =TeTh & qgrd 9T

(c) IedhHIqHAIIRR (4 @A frglaw

CORONA depends in transmission line
(a) on diameter of conductor

(b) on material of conductor

(c) the height of conductor from ground
(d) on line span

(27) 393 orfesret dteeat &t 2
(a) Tamrrtl frfewat deea a &
(b) faamrrtt fefemet dieea @ srfus
(c) ot frfewrer areea & qum
(d) IR HF B T
Visual critical voltage will be
(a) less than disruptive critical voltage
(b) more than disruptive critical voltage

(c) equal to disruptive critical voltage
(d) None of the above
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(28) AT W ftrapan & 8 e
(a) 35 HrEw | (b) FEHEAH
(c) weid (d) wmfid
Corona effect is maximum
(a) In humid weather (b) In dry weather
(¢) In winter weather (d) In summer weather
(29) i % et § wr g 2

(a) Ut IYfd FgA &% HRO (b) TEIHEI# T & HR
(c) famufFnagm$smm (4 @ a9 TEEdeH % ITN & HRO
In summer load increase due to

(a) Increase water supply (b) Increasing number of institutions
(¢) Increasing business process (d) Use of fan and coolers

(30) e 1 =1 g3 0 (Salvage) Bl

2. akh
(i1)
(iif)
(iv)
(v)

3. B

(i1)

(a) YATHS (b) &

(c) TRUTeHS (d) IWFHAIFE A

The salvage value of plant is

(a) Positive (b) Zero

(c) Negative (d) Any of these (1x30)
W T[Tk b1 afeTia I |

Define load factor.
wIfa 10T B 39 A1 FEEA & 7 HHHTE |

What do you understand by power factor ? Explain.

I Sieedn @ 3ifd 3= Aol § 1 AR 7

What is the difference between high voltage and extra high voltage ?
frareaerTl swifaes fava 1 afonfya Hifd |

Define disruptive critical voltage.
o -gferTe i THETE |
Explain ground return. (2x5)

HTe1 HH WR T q9T YR 3rafty a6 o a1 o 2 ¢ Fo wfea auemed | @ e
areht faft= gematl &1 3eor oft Hifs |

What is the difference between chronological load curve and load duration
curve ? Explain with diagram. Write various informations derived from these
curves.

forega wifa S % @ ) ST A TS T 1 FHHTE |

Explain the factors affecting the cost of electric power generation. (5+5)

P.T.0.
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4. (i) YoUBE A F A B ? Goun™ Wd A ) fafi i o awemed |
What do you mean by depreciation ? Explain various methods to calculate the
depreciation charges.
(ii) e U & fore i ot 2w Iwai 3§ ord s R qun i 7
Which tariff is used for industrial consumers and why ? (5+5)
5. (i) o= e wores & ool =) wwemed |
Explain the causes of low power factor.
(i) =it wfedm a3 & oy ferftgd |
Write advantages of inter connected power system. (5+5)
6. (i) 3y wfd woreht & deear fFrE & wgw %1 avlw FRA qun deea fgan
faferat fafed |
Discuss the importance of voltage control in modern power system and write
various methods of voltage control.
(i) weTafas 6t arafas 7 sfafrarsia ofem & fEm d s e ooz # 2
What do you understand by real and reactive power control of alternator ? (5+5)
7. (i) I Sieeal yeaTad! 9T Y ger 8 I Seedr for um yoret % e fafed |
Write down the advantages of H.V.D.C. system over H.V.A.C. system.
(i) 3= feg um yoreft % wehw wE 3w fafed |
Discuss the types and application of H.V.D.C. system. (5+5)
8. (i) ifafem 3= dreear d=tr wmgAl § SR 9 P safasor yue #) gused |
Explain corona and radio interference effect in EHV transmission lines.
(i) 3fa 3= dieear g=wwr & day § fi ) 989 & guey
Explain the following in brief with reference to EHV transmission :
(a) ST HT TIT
Selection of conductors
(b) =TeTRI % Hem gl
Spacing between conductors (5+5)
9. foredi @ w wfre feoauft forfiad
Write short notes on any two :
(i) fé® VAR vfewrs
Static VAR compensator
(ii) 3T e 3R 37 g 29 whads gfonfis

Off load and On load tap changing transformer

(iii) VS ATAH

Bundle conductors (5+5)




